
TOP-0023 Extension Brackets 80” & 88” Tops 
E-Z-Go Medalist / TXT 

Installation Instructions 

 

 

 

 

 

 

Contents of TOP-0023 Extension Brackets: 
 

(2 ea.) Extension Brackets 

 

Recommended Hardware (Not Included): 
 

(2 ea.) 5/16-18 x 1.5” Hex Head Bolts 

(2 ea.) 5/16-18 x 1” Carriage Bolts 

(6 ea.)  5/16” Flat Washers 

(4 ea.)  5/16-18 Nylock Nuts 

 

Before You Start 
 

1. Turn the key to the OFF position. 

2. Place the TOW/RUN switch in the TOW 

position (electric carts). 

3. Engage the parking brake. 

4. Chock the wheels to prevent the cart 

from moving. 

 

Installation Preparation 
 

1. If the cart currently has a top,  

remove it and discard.  

Extension Bracket Installation 
 

1. Locate the (2) holes on the top of the 

front strut.  

 

2. Using (2) 5/16-18 x 1.5” Hex Head 

Bolts, (4) 5/16” Flat Washers and (2) 

5/16-18 Nylock Nuts, secure the 

brackets to the front strut as shown.  

Do not fully tighten.  

 

 

 

 

 

 

 

 

3. Insert (2) 5/16-18 x 1” Carriage Bolts 

into the opening of the channel on the  

underside of the 80”/ 88” top. Slide 

them to the front of the top. 

4. Secure the brackets to the carriage 

bolts using (2) 5/16” Flat Washers and 

(2) 5/16-18 Nylock Nuts.  

5. Attach the top to the rear struts. 

 

6. Once in place, tighten all hardware.  

 

 

 

 

 

 

 

 

Your Extension Brackets are now complete. 

Please enjoy safely! 


